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ECONOMICS — GENERAL
Fourth Paper
Full Marks : 100

Candidates are required to give their answers in their own words
as far as practicable.
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Class Interval | 50 - 59 60 - 69 70 - 79 80 -89 | 90-99 |100 - 109
Frequency 5 10 16 25 12 7
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Weight (Kg) |36 - 40 |41 - 45 |46 - 50 |51 - 55 |56 - 60 |61 - 65 |66 - 70
Frequency 14 26 40 53 30 17 10
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The figures in the margin indicate full marks.

Group - A
(Marks : 50)
Unit - 1
1. Answer any five questions : 2%5
(a) Name two indicators of economic development.
(b) What do you mean by Human Capital?
(c) Mention two unfavourable effects of population growth on economic development.
(d) What do you mean by gender inequality?
(e) Mention two roles of International Monetary Fund in economic development of less developed
country.
(f) What is foreign aid?
(g) Write two complimentary roles of agriculture and industry in economic development.
(h) What is ‘backward linkage effect’?
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(b)

(c)

(b)

(b)

(b)

Unit - 2
Answer any two questions.
Why is economic growth not sufficient for economic development?

Discuss the merits and demerits of using per capita income and national income as indicators of
economic growth.

Is per capita income a good indicator of economic development? 8+8+4

Discuss the necessities of development planning in economic development.

Discuss the role of savings and investment in capital formation in less developed countries.
10+10

Discuss the difference between balanced growth and unbalanced growth.

Discuss the two way relationship between population growth and economic development. 10+10

Discuss the role of foreign investment in economic development.

Discuss the role of World Bank in economic development of less developed country. 10+10

Group - B
(Marks : 50)
Unit - 3

6. Answer any five questions : 2X5

(a)
(b)
(c)
(d)
(e)
®
(8

Give two arguments in favour of free trade.

Distinguish between Tariff and Quota.

What is import substitution?

Mention two items of invisible trade.

Define Terms of Trade.

Distinguish between balance of trade and balance of payments.

Name two non-tariff barriers.

7. Answer any one question : 5%1

(a)
(b)

Distinguish between current account and capital account in Balance of Payments.

What do you mean by gains from international trade? Illustrate with example.

8. Answer any one question : 10x1

(a)
(b)

Critically discuss Ricardo’s theory of Comparative Cost.

Discuss the arguments for and against the protection of infant industry.
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Unit - 4

9. Answer any five questions : 2X5

(a)
(b)
(c)
(d)
(e)
®
(8

Distinguish between Population and Sample.

Define attribute with example.

Find the Mean and Median of the series : 5, 8, 7, 2, 3.
Distinguish between Discrete and Continuous Variables.
Mention two measures of Dispersion.

What is the Coefficient of Variation?

Define Median.

10. Answer any one question : 5%1

(2)

(b)

Find the mode from the following data :
Class Interval | 50 - 59 60 - 69 70 - 79 80 -89 | 90-99 |100 - 109
Frequency 5 10 16 25 12 7

Discuss the advantages and disadvantages of sample survey.

11. Answer any one question : 10x1

(a)

(b)

Find the Arithmetic Mean and Standard Deviation from the following data :
Weight (Kg) |36 - 40 |41 - 45|46 -50|51-55|56-60 |61 -65|66-70
Frequency 14 26 40 53 30 17 10

Explain the concept of a Lorenz Curve.




